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P
Outcome 3 Data ¢ - (9 Marks)
**QTART A NEW PAGE***
Section1 Select the corvect alternative A, B, Cor D
1) The square represents a missing digit in fhe stem and Jeaf plot.
" (iven the median is 45, what does D represept
STEM ! LEAF .

3 7809

4 [l s

5 137

1 Martk

GV ® 2 © 4 @ 5

2) The total of four scores is twenty, A score is added and the new mean is five.
Theé score fhat was added was

P

@ 4 ®) 45 © 3 @ . 55

3) A normal distribution has a mean of 70 and a standard deviation of 5.
‘What percentage of scores are between 65 and 757

B)  50% B) 79% © 6% o 95

Section2  Show all working

4) Copy the diagram

¥ ¥

Diaw a box and whisker plot givcn'fhe following information.

Highest score = 80
Lowest score =25
Lower quactile = 50
Upper quartile =70
Median =65
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5} Given the £ “ing, scores 61, 52, 57, 48, 65, 55 find the standard
deviation correct to one decimal place. | Mark

6) Find the infer-quartile range of the following scores.

0,1,11,2,10,11,2, 10, 5,7, 11, 11, ‘ 1 Mark

Section 3 Show all working

D The following statistics wore obtained from a Matheratics and English test

] x o Brian’s Mark -
Maths 60 9 40 )
English 50 13 .. 40

()  Brian said “I scored befter in Mathematios™. Do you agre?
Use the information in the table to justify your résponse., 2 Marks

(i)  Theieacher had forgotten to inchede the mark of 59 when caloulating
the statistics for Mathematics, Tn what way would the meen and
standard deviation for Mathematics be affected once the score

was included?
1 Mark

QOutcome 4 Graphs (20 Marks)

**+START A NEW PAGE#*¥
Section1 Select the correct alternative A, B, CorD
1) Select the eguation which matches the graph below.

A

A 4

' -4

By xy=4 ®  y= © X+y'=4 @ y=dx 1 Mack

Paga B
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2) The graph that represents y=(x+1)! is

A \‘

(C) A

1)

3) The equation of the graph below is

Section 2  Show all working
4) A parabola has the equation y=x"—7x+10.
()  Find the y-intercept.
(i) Find the x-intorcepts,
(i) Find the equation of the axis of symmetry.
(v) _ Find the co-ordinates of the vertex

()  Find the minimum valug.
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®)

N\

1 Mark

)]

(v}  Sketch the curve showing all the above details,

y=37 © y=-37

1 Mark

1 Mari{
1 Mark
1 Mark
1 Mark
1 Mark

1 Mark
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5) Skeich the fo]lo\\_/curves, showing all essential features.

)] 2+yt=4 2 Marks
1

i =— - 2 Mark:

G Y Marks

6) Explain whit happens to the curve y = x* when the following translations

are performed.
@ y=+-1 _ 1 Mark
@ r=E-1 : ' 1 Mark

Section3  Show all working

T Use the sketch to find the equation of the following parabola

]

3 1 *
&

- 3 Marks

8)  Find the centre and radius of the semi-oircle y = 283 2 Marks
Give your answer in simplest form.
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2) Given 16 =4, which of the following are true? \_ 1 Mark
A log,16=2 ® log,4=16
© log2=4 D) log4=2

3) ‘Which of the following graphs represent functions whose inverse is a function 1 Mark
GV ‘T ® \ 1 ]
© o)

[V

LN

=

Section 2 Show all working

4  Given f)=11
x-1
1§3] Bvdluate f [%] . 1 Mark
(i)  Solve f(x) =-;— o 1Mak
5) Evaluate 27 :% _ 1 Mark
6  Smphfy (@ &8 1 Mack
log, 2
G)  Slog, 2+%16g, 4 2 Marks

Pagadi
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7 Given log2= 0..‘\%/ ,and log3=04771

Bvaluate { log,, 6

@@ logls
(i) Jog24

4] Solve (i} 270 =47 -

1
i) log =2
(i) lop, 4

Section3  Show all working

9N Solve logx+log (x-2)= 3 Q@ﬂ 2

END OF TEST
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1 Mark
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2 Marks

2 Marks

1 Mark
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